AQA

A Level

A Level Maths

AQA Core Maths C4 June 2014 Model Solutions

Name:



Mathsmadeeasy.co.uk

Total Marks:

la
$$x = \frac{\ell^2}{2} + 1$$
 $y = \frac{\ell L}{L} - 1$ $\frac{dx}{dt} = \frac{\ell}{L}$ $\frac{dy}{dt} = -\frac{\mu}{L}$ $\frac{dy}{dt} = -\frac{\mu}{L}$ when $\ell = 2$, $\frac{dy}{dt} = -\frac{\mu}{2^3} = -\frac{1}{2}$ lb. $y = \frac{\ell}{L} - 1$ $\frac{dy}{dt} = -\frac{\mu}{2^3} = -\frac{1}{2}$ lb. $\frac{dy}{dt} = -\frac{1}{2}$ $\frac{dy$

2b.
$$\int 2x + 3(\frac{\ln x - 1}{2x^2 + x + 2}) dx$$

$$\int 2x + 3\ln |2x^2 - x + 2| + c$$

$$\lim_{x \to -1} x + 3\ln |2x^2 - x + 2| + c$$

$$\lim_{x \to -1} x^2 + 3\ln |2x^2 - x + 2| + 1 - 3\ln |5$$
3a.
$$(1 - \ln x)^{1/2} \approx 1 + (\frac{1}{4})(-\ln x) + (\frac{1}{4})(-\frac{3}{4})(-\ln x)^{\frac{1}{4}} + ...$$
3b.
$$(2 + 3x)^{-3} = \left[2(1 + 3/2x)\right]^{-3}$$

$$= \frac{1}{8}(1 + \frac{9}{2}x)^{-3}$$

$$= \frac{1}{8}(1 + \frac{9}{2}x)^{-3}$$

$$= \frac{1}{8}(1 - \frac{9}{3}x + \frac{27}{16}x^2 + ...)$$
3c.
$$\frac{(1 - \ln x)^{1/4}}{(2 + 3x)^5} = (1 - x - \frac{3}{2}x^2)(\frac{1}{8} - \frac{9}{16}x + \frac{27}{16}x^2 + ...)$$
3c.
$$\frac{(1 - \ln x)^{1/4}}{(2 + 3x)^5} = (1 - x - \frac{3}{2}x^2)(\frac{1}{8} - \frac{9}{16}x + \frac{27}{16}x^2 + ...)$$

$$= \frac{1}{8} - \frac{9}{16}x + \frac{27}{16}x^2 - \frac{1}{8}x - \frac{9}{16}x^2 + \frac{37}{16}x^2 + ...$$

$$= \frac{1}{8} - \frac{9}{16}x + \frac{27}{16}x^2 - \frac{1}{8}x - \frac{9}{16}x^2 - \frac{3}{16}x^2 + ...$$

$$= \frac{1}{8} - \frac{9}{16}x + \frac{27}{16}x^2 - \frac{1}{8}x - \frac{9}{16}x^2 - \frac{3}{16}x^2 + ...$$

4a.	when t=0, V = 5,000
	v = Apr
	5000 = Ap° => A = 5000
Libi.	in 2011, E. 10 V = 25,000
	25 000 = 5000 p 10
	ρ'' = 5
464	V = 75,000
And Application of	75,000 ; 5000 pt
	ρ ^ε = 15
	Elap = las
	E: enis
	xv1
	t: en 15
	10 ens
	= 16.83 years
	= 16 years 10 months
	so February 2018
4cr.	W = 2500 gt in April 1991 so V. 5000 pt-10
-	5000pt-10 = 2500qt (in 1991)
## cc 4	2per = 96
10 Bach	en (2pt-10) : tenq
***************************************	ln2 + (t-10) ln p = tenq

heñ.

Sai.

$$ln2 + tlnp - lolnP = tlnq$$
 $ln2 + tlnp - lns = tlnq$
 $ln2 + tlnp - lns = tlnq$
 $llnp - tlnq \cdot lns - ln2$
 $l(ln(\frac{p}{q})) = ln(\frac{5}{2})$
 $ln(\frac{6}{1})$
 $ln(\frac{6}{1})$

3 sinx + 4 cosx = 5 sin (x+53.1)

Sai 1

$$3 \sin 20 + 1 \cos 20 = 5$$
 $5 \sin (20 + 53.1) = 5$
 $\sin (20 + 53.1) = 1$
let $\phi = 20 + 53.1$
 $\sin \phi = 1$

0 4 0 4 360

56.

$$ton 20 = \frac{2 ton 0}{1 - ton^2 0}$$

Shi.

$$\tan^2 \theta \cdot \frac{1}{a}$$

$$fan O : \pm \sqrt{2}$$

Visit http://www.mathsmadeeasy.co.uk/ for more fantastic resources.

6a.

Q.
$$r: (\frac{1}{3}) + \lambda (\frac{1}{3})$$

Q. $r: (\frac{1}{3}) + \mu (\frac{2}{3})$

P. $(\frac{1}{4} + (.1)(.1)) - (\frac{1}{3}) + (\frac{1}{3})$

Q. $(\frac{1}{4} + 2(2)) - (\frac{11}{4}) + (\frac{1}{4})$
 $(\frac{1}{4} + 2(2)) - (\frac{11}{4}) + (\frac{1}{4})$

Eq. $(\frac{1}{4} + 2(2)) - (\frac{11}{4}) + (\frac{1}{4})$
 $(\frac{1}{4} + 2(2)) - (\frac{1}{4}) + (\frac{1}{4})$
 $(\frac{1}{4} + 2(2)) - (\frac{1}{4})$
 $(\frac{1}{4} + 2(2))$
 $(\frac{1}{4} + 2(2)$
 $(\frac{1}{4} + 2(2))$
 $(\frac{1}{4} + 2(2)$
 $(\frac{1}{4} + 2(2))$
 $(\frac{1}{4} + 2(2)$
 $(\frac{1}{$

Let
$$l_3$$
 be the line through P parallel to l_2

$$l_3 \quad \underline{r} = \begin{pmatrix} 5 \\ -8 \\ 2 \end{pmatrix} + pn \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix}$$
S lies on l_3 so $\overrightarrow{OS} = \begin{pmatrix} 5 + 2pn \\ -8 - 3pn \\ 2 + pn \end{pmatrix}$ for some pn

S lies on
$$l_3$$
 so $\overrightarrow{OS} : \begin{pmatrix} 5 + 2m \\ -8 - 3m \\ 2 + m \end{pmatrix}$ for some m

$$\overrightarrow{R5} : \begin{pmatrix} 5+2m \\ -8-3m \\ 2+m \end{pmatrix} - \begin{pmatrix} 3 \\ -2 \\ \mu \end{pmatrix} : \begin{pmatrix} 2+2m \\ -6-3m \\ -2+m \end{pmatrix}$$

$$50 \quad \begin{pmatrix} 2+2m \\ -6-3m \\ -2+m \end{pmatrix} \cdot \begin{pmatrix} 1 \\ -1 \\ 1 \end{pmatrix} = 0$$

$$5+5W+P+3W-5+W=0$$

 $5+5W-(-P-3W)+(-5+W)=0$

Pai.

$$cos2y + ye^{3x} : 2n$$

$$-2sin2y \frac{dy}{dx} + 3ye^{3x} + e^{3x} \frac{dy}{dx} : 0$$

$$\frac{dy}{dx} \left(e^{3x} - 2sin2y \right) : -3ye^{3x}$$

$$e^{3x} - 2sin2y$$

Tac

. .

FP.

grad of normal:
$$\frac{1}{17}$$
 (Since $\frac{1}{17}$)

 $y - \frac{17}{17} : \frac{1}{17} (x - \ln 2)$

erosses y axis when $x = 0$
 $y - \frac{17}{17} : \frac{1}{17} (0 - \ln 2)$

J. # - en2

8a.
$$\frac{16x}{(1-3x)(1+x)^{4}} = \frac{A}{1-3x} + \frac{B}{1+x} + \frac{C}{(1+x)^{4}}$$

$$16x + A(1+x)^{2} + B(1-3x)(1+x) + C(1-3x)$$

$$x \cdot -1 : -16 \cdot 6C = C \cdot -6$$

$$x \cdot 73 : \frac{16}{3} = \frac{16}{9}A = A \cdot 3$$

$$x \cdot 0 : A \cdot 8 \cdot C$$

$$0 \cdot A \cdot 8 \cdot C$$

$$0 \cdot 3 \cdot 8 \cdot 6 \cdot 6 \Rightarrow B \cdot 1$$

$$\frac{16x}{(1-3x)(1+x)^{4}} = \frac{3}{1-3x} + \frac{1}{1+x} - \frac{1}{(1+x)^{4}}$$

$$8b. \frac{dq}{dx} = \frac{16xe^{2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dy = \int \frac{16x}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dy = \int \frac{16x}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dy = \int \frac{16x}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int e^{-2ty} dx = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}}$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}}$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}}$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}}$$

$$\int e^{-2ty} dy = \int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}}$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}}$$

$$\int \frac{16xe^{-2ty}}{(1-3x)(1+x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-2x)^{2}} dx$$

$$\int \frac{16xe^{-2ty}}{(1-2x)^{2}} dx = -\frac{16xe^{-2ty}}{(1-2x)^{2}} dx$$

$$\int \frac{1$$

$$\int e^{-2y} = \int \frac{3}{1-3x} + \frac{1}{1+x} dx - \left(-4(1+x)^{-1}\right)$$

$$= \frac{1}{2}e^{-2y} = -2n\left[1-3x\right] + 2n\left[1+x\right] + 4\left(1+x\right)^{-1} + c$$

$$= \frac{1}{2}e^{0} = -2n\left[1+2n\right] + \frac{1}{1} + c$$

$$= \frac{1}{2}e^{-2y} = -2n\left[1-3x\right] + 2n\left[1+x\right] + \frac{1}{1} + c$$

$$= \frac{1}{2}e^{-2y} = -2n\left[1-3x\right] + 2n\left[1+x\right] + \frac{1}{1+c} = \frac{q}{2}$$